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General Instructions :
Read the following instructions carefully and follow them :

(i) This question paper contains 33 questions. All questions are compulsory.

(it)  Question paper is divided into five sections — Sections A, B, C, D and E.

(iti) Section A — questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

(iv) Section B — questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

(v)  Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

(vi) Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks. Each question has subparts with internal choice in
one of the subparts.

(vii) Section E — questions number 31 to 33 are long answer type questions. Each
question carries § marks.

(viit) There is no overall choice. However, an internal choice has been provided in
Sections B, C and D of the question paper. A candidate has to write answer for
only one of the alternatives in such questions.

(ix) Kindly note that there is a separate question paper for Visually Impaired
candidates.

(x) Wherever necessary, neat and properly labelled diagrams should be drawn.

SECTION A

Questions no. 1 to 16 are Multiple Choice Type Questions, carrying 1 mark

each. 16x1=16

1. The type of bond represented by the dotted line ————— > in a schematic
polynucleotide chain is :

- < Sl B
P
> S----- B
P
> S----- B
P
> S----- B
P ~_
(A) Hydrogen bond (B)  Peptide bond
(C)  N-glycosidic linkage (D)  Phosphodiester bond
57/1/2-11 3 VAWV P.T.O.
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34 fasen =t gfw fod oma qrg (Sft) & S99 96 1 aiEedrst & G@t
3TI5hH < ST TR 7

() UHTECE (FSH) 1 &0

(i) — ASrcH

(iii) dafds @1 adq

(iv)  Yoh I IEA QT IS

(v) TAwE (LH) &R H 3Thiee Jig

ICETRF
(A)  i-dii—v—iv—ii (B)  i—iv—v—ii-iii
(C)  iv—i—v—iii—ii (D) v—iiiii-iv—

3.  3Y I 3@l H Thicd B A SAFe/G/derd i WA 360 91 H W@ B
(A)  HEESEIE (B) 3ATehi (3T SRt
(C)  wrEF-Evedt S (D) fermurst St

4. fafere Bt Sfia faw S| S U@ o didl 1 HUE Mo AAH HHA 6 Jfd
&I Y&H i @, 98 S @
(A) 731 Tdt aun g1l usf (B) 731 TSI Qo #7s-1 st
(C)  #Hre-I1 wH} qen #73-1 uet (D) 711 TSt e 751 Tt

5. = € TS Allctehl B $© UHAI 3TFA YT A6 HE(Ud THIIRTAT HigH U W
g

ol 37ecT THIRTUTT FHISTT
EAECIESEIE] UUU
AT AAG
EUREIK CGA
T GCA
39 AT FAPHA HT T3 hifae it Fefefga dicfiucerse o gsn &1+
Frytfa som
qIAUEIES : T — ST — ATSEH — BT
(A) CGTGCTTTC AAA B) CGTGCTTTCTTT
(C) CGUGCUUUC AAA (D) CGUGCUUUCTTT
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2. Select the option that has the correct sequence of events of human female
reproductive cycle :
(1) Secretion of FSH
(ii))  Ovulation
(iii)  Growth of corpus luteum
(iv)  Growth of follicle and oogenesis
(v)  Sudden increase in LH
Options :
(A)  i-iii—v—iv—ii (B)  i—iv—v—ii-iii
(C)  iv—i—v-iii-ii (D) v-ii-iii-iv—i
3. Lactobacillus that sets milk into curd is categorised as :
(A) Cyanobacteria (B)  Archaebacteria
(C)  Chemosynthetic bacteria (D) Heterotrophic bacteria
4., The specific Bt toxin genes which protect the cotton plants against the
cotton bollworms are :
(A)  Cry-I Ac and Cry-II Ab (B) Cry-I Ab and Cry-I Bc
(C)  Cry-II Ac and Cry-I Ac (D) Cry-I1 Ab and Cry-1 Ab
5. Listed below are some amino acids and their corresponding mRNA
codons :
Amino acid mRNA codons
Phenylalanine 191018}
Lysine AAG
Arginine CGA
Alanine GCA
Select the DNA sequence that would code for the following polypeptide
sequence :
Polypeptide :  Alanine — Arginine — Lysine — Phenylalanine
(A) CGT GCTTTC AAA (B) CGTGCTTTCTTT
(C) CGU GCU UUC AAA (D) CGU GCU UUC TTT
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frfeifga & @ fopg @9 & T qem w1eT g9 gH1 T B 9t T g Bid § ae

3T FATAYSIT AT 3eET WHY=E 99d § ?
(A) g (B) B[ (2 M)
(C)  Hehl (D) dieteh

7. Tmafafga ot Sgsn (gt tmed) o & ford Tifer™l o e (Ja)
1 e wkiegor &g 3T fehar e B 2
(A) g (B) il
C) g3 (D) =ar

8. fmafafga @ @ fra ypr <t uffeafani/Am & oma sRR o are Sifdesen 6
srffspamsfierar (¥ gfg) Sfera gt 8 2
(A)  TEHES (B) ettt
(C) UEehiufe™ (D) TUgH

9. UfER fem g forelt qrufa grr o1aaTE S aTeft eTafies Tom o1afy g+t =nfau
(A) TTEaH =k & 54 ¥ 104 g7 & &=
(B) HIEAR! =% % 139 ¥ 154 fg7 & &=
(C) TEa =k & 104 § 174 fg7 & o=
(D) HIEARI =% % 169 ¥ 204 fo7 & =

10. T=faRad ¥ 7ea Sie =1 =99 HIfST

qra SR L
(A) 45+ XX _ IS gl O srfirenefies um shis
(B) 44 + XXY — OO €9 H IS A0 1 o
(C) 44 +XO _  Joqafd TERM % hIO A1 & Bl 8
(D) 44 +XY —  HH T (1Y)

11. SITAU e T ITANT ek TR &9 |§ 10 =I5kl o 390d fohdd AU EivAU
31y ffa (Sfa) g 2

(A) 512 (B) 1024
(C) 2048 (D) 256
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6. In which of the following plants are both male and female flowers born on
the same plant and the mode of pollination can be geitonogamy or
xenogamy ?
(A) Papaya (B) Date Palm
(C) Maize (D)  Spinach

7. Which one of the following transgenic animals is being used to test the
safety of the polio vaccine ?
(A)  Sheep (B) Goat
(C) Pig (D)  Mice

8. In which of the following conditions/diseases is there a substantial
increase in the activity of mast cells observed in the human body ?
(A)  Typhoid (B) Allergy
(C)  Ascariasis (D) AIDS

9. The periodic abstinence by a couple for family planning should be from :
(A) Day 5 to 10 of menstrual cycle
(B) Day 13 to 15 of menstrual cycle
(C) Day 10 to 17 of menstrual cycle
(D) Day 16 to 20 of menstrual cycle

10. Select the incorrect match from the following :

Human Karyotype Characters

(A) 45+XX —  Broad palm with characteristic palm crease
(B) 44 + XXY —  Overall feminine development
(C) 44 +XO —  Sterile females as ovaries are rudimentary
(D) 44 +XY —  Normal male

11. Using a DNA template, how many new DNA molecules would be
generated after 10 cycles of amplification in PCR ?
(A) 512 (B) 1024
(C) 2048 (D) 256
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12. = feu Tu ar axwReAl Wi afen qen g T gl aret faeheu @i T

() Uk TS0 I @M 1T I qAT QT bl @H Jred] T arifeafash &
3TER IUHIHT B o HHUT TGH 7 |

(i) T TRHN 7T B TRIBKAT h ST Tafagdr w1 AR

%4 H 988 8 |
(i) RVeft 3raa: Rreer shfaat w1 foetm a2 |
(iv) @i gra s qen ©heeia wEat =1 i uder foer 2 |
(A) (@) ddr (1i1) (B) (1) qAT (iv)
(C) (1) ddT (i1) (D) (i) 9T (iv)
Yo7 G&T 13 & 16 & 1078, 1 %97 157 T & — [958 v @] 37199 (A) TIT G&R &1

FRU (R) gRT 37d 1397 771 & | 37 Y941 @& &t 3K #9177 77 #igl (A), (B), (C)
3 (D) § @ g7 A |

(A)  AMMHAT (A) 3R HRUT (R) AT T&l & IR SR (R), AR (A)
g ST LAl 2 |

(B) fished (A) 3R SR (R) g1 T& &, Weg HRUT (R), AT (A) Fi
e SR gt il g |

(C) TR (A) HEl B, =g R (R) TAd 7 |
(D) R (A) TeId B, Td SR (R) T 2 |

13. 3BT (A) : THIGFIRTH STHHEREE 3k ThaladA] Gl 1 AT
2 |

HR (R) : Y H JEH HIRERIAT I R H FA@HT HH 3q T8 ST
o Teh 3T ‘T-ETAT hl gEATdNd i H 99 3 |

14. P97 (A): AR 2N 1 i FE 1 A e A hi gamerd a1 g 3
Ig AN ot FaHfaEH <ufd o T SHerdr Wiy <61 aaw 39
2 |

HRU(R): WG H Y AR <H-EF F=A1 &l HrH 1 Mg o H
TeHTcHh, Gt qT HTHISh Hdsh STeeh T8l § |
15. 374%97 (A): G SH Fo B fgdet 1 9: 3 : 3 : 1 981 guild (uit@fera
TEl Bid) & |

FRU(R):  Gord (Tgere) Sl H Taas foganse &1 gran |

:
Qcol legedunia:
IIIII 's largest Student Review Platform



=

Read the four statements given below and select the option having two
correct statements :

(1) A lion eating a deer and a sparrow feeding on grains are
ecologically similar in being consumers.

(ii))  Predator starfish Pisaster helps in maintaining species diversity of
some invertebrates.

(iii) Predators ultimately lead to extinction of prey species.

(iv)  Production of chemicals nicotine and strychnine by plants are
metabolic disorders.

(A) () and (iii) (B) (i) and (iv)
(C) () and (ii) (D)  (iii) and (iv)
For Questions number 13 to 16, two statements are given — one labelled as

Assertion (A) and the other labelled as Reason (R). Select the correct answer to these

questions from the codes (A), (B), (C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

13. Assertion (A) : Agrobacterium tumefaciens is a pathogen of several
monocot plants.

Reason (R): It is able to deliver a piece of DNA known as ‘T-DNA’ to
transform normal plant cells into a tumor.

14. Assertion (A) : The laws of our country permit legal adoption and it is as
yet, one of the best methods for childless couples looking
for parenthood.

Reason (R): Emotional, religious and social factors are no deterrents to
the legal adoption of orphaned and destitute children in
India.

15. Assertion (A) : Linked genes do not show dihybrid F9 ratio9:3:3: 1.

Reason (R): Linked genes do not undergo independent assortment.

57/1/2-11 9 VAWV P.T.O.
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18.

19.

20.

57/1/2-11 10

37T (A) : TEIU S s it gq St Tafehean o fotw IRfeies yoftar sraen
H Ffsha @i H-givqu g FEienupst 4 glise hiET ATavTeh
g |

FRU(R): YOI AGEAT § HIRERC 3 7R fodfeq gt & aom sent

SEAhIST ST BT 2 |
Lus d

3Teh foaR § oI TS <hl T 3Teilieh ISt & <l ST Hehell & ? 3794
I ! ~rrETdal fafgn | fhami o fou STEee o a1l 1 Seoi@ Hifvie | 2

(%) @Wd U HMW Hd THT Tk RO Hl Th favsl a3 e (39) foram |
39 Jfacre g T % W g o IR TET S8 IRl 9 S99
7q fafehcas 4 38 T SoaH TR |

G)  Tafercass 3 frg verd =t fafsa feran qem =1 2 1

(i) 3@ soged (Fesm) @ fora g <t afaeen gem <t T8 2
Jrqa
(@) ES HY HE dT fhd feh HIci o THA IHH I SFAIGT H

o N o faaN
dal h{d ? U Hlad ] h[STT | 2

= feu U fom &1 Serur KINT | 38 Yehid-dTHS T AW Tafen e = o
few U Sfg & R R Sfiet o faeem w1 fagra faan | fowa & fow 39ht &
T8 s ot fefau | 2

DO~ N~

GG el o FErRIAre TgReh - SeNfifeh] (TTREY) HRIHH § 0T T
T G TN 1 Iooi@ hiY | 386 TEa Ry (S8 T aet) HRshH ol
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16. Assertion (A) : Functional ADA cDNA genes must be inserted in the
lymphocytes at the early embryonic stage in gene therapy
for ADA deficiency.

Reason (R):  Cells in the embryonic stage are immortal, differentiated
and easy to manipulate.

SECTION B

17. Do you think apomixis can be compared to asexual reproduction ? Justify
your answer. State the benefits of apomixis to the farmers. 2

18. (a) A farmer while working on his farm was bitten by a poisonous
snake. He was rushed to a nearby health centre where the doctor
gave him an injection to save his life.

(1) What did the doctor inject and why ? 1 é
(ii) Name the kind of immunity provided by this injection. é
OR
(b)  Why do organic farmers not recommend complete eradication of
insect pests ? Explain giving reason. 2

19. Observe the picture given below. Name the naturalist and write the
explanation given by him that evolution of life forms had occurred on the
basis of this example. 2

20. Write the basic steps followed in the Assisted Reproductive Technologies
(ART) programme to help childless couples. Why is it also known as test
tube baby programme ? 2

57/1/2-11 11 W P.T.O.
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21. &9 1920 # ieefern 4 e fafyme Sifa & dte i gfase suRm 1 SR HTeiaX
T Ig MhTHS Bkl ATl g Y& T el T |

(%) ATl # faE AT MU 3G GIY H A9 qAT IGh AILE Ifg

ST 1 3Jeaid foiiay | 1
(@) 3| ke Y w1 fora yeer farfa foren mn, Seor@ hifsre | 1
wue
22. (F) (1) IR G (SO THHeH) w18 ? 1
(i) Tevem Fffa ueiet = w1 W fafeu qun sHe HEw™ W
Jea@ IR | 2
YT

(@) (1) Sl AR I (EcoRI) o AU g YA 7§ WU hi AT

it | 2
(i)  had NG ! T § Foh! TR I i ST T =I[FAILEe T
fsham =l TGl ST | 1
23. = & E aifeteRt § A, B, C, D, E a1 F &l 989 L 3 9 fARgU : 3
HIF4 7 &7 17 07 7 S7fcTETI
RSUERL G A
§ 3= SR, HUS, fiteg, e
EELIES B i
AT Jeh™ ECICIREC| ‘©
IRR <k fafr= wrT & g@i, weehl
2 (ToreH) D farerfoat (wheft fieq), et B
RIRCE il
TEh I ueE IHIRGT 0%
. . hedl, USH, TYHA U9 Th & dah
F ge3rHiaT feeeiicrier e T
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21. A specific plant species was introduced into Australia in 1920 and later it
became invasive spreading over millions of hectares of rangeland.

(a) Name the plant that was introduced into Australia and mention

the reason for its uncontrollable growth. 1
(b)  State how its spread was eventually brought under control. 1
SECTION C
22. (a) @) What are transgenic animals ? 1
(ii))  Name the first transgenic cow and state its importance. 2
OR
(b) @) Explain the convention for naming EcoRI. 2

(i1))  With the help of an illustration only, show the action of

EcoRI on a DNA Polynucleotide. 1
23. Identify A, B, C, D, E and F in the table given below : 3
Name of Human Disease | Causative Organism Symptoms
Pneumonia Streptococcus ‘A’
Typhoid ‘B High fever, weakness,
headache, stomach
pain
Common cold Rhino virus ‘C
Ringworm ‘D Dry scaly lesions on

body parts, redness,

itching
Ascariasis Ascaris ‘E
F Entamoeba Constipation, cramps,
histolytica stools with mucous
and blood clots
57/1/2-11 13 VWMWY P.T.O.
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nfgenett gra ot S areft it Mo (fiew) 6t fpafafar & @i 6
ST HINT | $oh TUTFDRI INUMH ITH i 7 R AW areft
TUF-ARO{ T Seoig I | 3

(F) 39 TR & AT F1 AW a1 3 Atvwan fafge s e sifasd
(e fHmfifan) qeier o1 3MaR s 8 | 1+1

(@) 39 qohileh o hIs Gl STTIAN T Ieci@ HIT | é%

= fCU MU T H U A o TR AT o1 HEWSIT g TEidd gwd g
TR |

(%) R e g freffa o o1 9m fafae | 5@ o & sifueror qen
SR TARIT |
(@) ugfaa shig s Tgrrar @ U (fasR) o et 9 i samean e | 2

(%) TE.Td. Wer g fRT T WM W wnehar i e Hife | A
SRt & AW fefae fSeeh geamat (aftehedar) 3 e =6t 3| S
A o o Afa fopa | 2

(@) Iehiiug favetyor g0 qfitehedaT 1 aHeH fhd TR =TT 8 2

N[~ N~
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Explain the mode of action of contraceptive pills taken by human
females. Mention the schedule to be followed for effective outcome. 3
25. (a) Name and write two characteristics of the type of DNA that forms
the basis of DNA fingerprinting technique. 1+1
. .. . . 1 1
(b) Mention any two applications of this technique. 2 + 3
26. Given below is a picture that shows the magnified blood smear of a
patient under a microscope.
(a) Name the disease the blood smear is indicative of. Write the
symptoms of the disease and its cause. 1
(b) Explain the inheritance pattern of the disease with the help of a
suitable cross. 2
27. (a) Explain the significance of the experiment carried out by
S.L. Miller. Name the scientists whose hypothesis prompted him to
carry out this experiment. 2=
(b) How does meteorite analysis favour this hypothesis ? L
57/1/2-11 15 VAWV P.T.O.
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28. (%) Ioor@ HIfe for Tl Scuresrar =1 8 991 38 fohd &9 (3H1E) T =
ERIEICIE zé
(@) o wifeafahifai 4 <@ (vfea feam) fop U™ ® & o #
TTIfieh IcATGehdT Shicl o fohe! fofimse ToM 1 ol § &H 8 | e
IS, T = R | 11
WUz 2
97 TEIT 29 TIUT 30 FG-ITIRT 97 & | IA% T97 & 3 I7-¥97 8 [aa T 37-797

g s7iaRe fasbey faar 731 3 |

29. = fou Tu @ w1 STewEa Hifs e wumaia Starpet & =¥e 61 wrifafy
& Tofi=T =RoT <l ol T 8 | 39 YR W fau U smATHY Ul % ST
AT

ufufafed =
CEARIEESIEICT
gfa gfeqeft = o i

(iii) ufeffer g T (i)
(%) 38 Tag (FfAH!) I TEAHT I FIANA g3 & | IO hl ARG
fag =il | i%

2
(@) wIfSHe | 37 TS ol T Hel 11 8 &l Cufbfer aun dgmmsaet=
gt gfareht SiAi o1 fFasE fohem Smar 8 2 STafies Seifaiar o 3eh!

YfHehT T Ieci@ hHITIT | 2
()  IAgARTER FSWANT H WEwyu el WH ar @ UemsHi % M
fetfiag | 1
HAYAT
() Trasft ffseaa (sTesHa SURIGRH) H piciacrarses i e
fetfiag | 1
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28. (a) State what is primary productivity and mention its units. lé
(b) Some ecologists observed that primary productivity of a place in
Rajasthan was low as compared to a particular place in Kerala.
Explain why. 1 é

SECTION D

Questions No. 29 and 30 are case-based questions. Each question has
3 sub-questions with internal choice in one sub-question.

29. Study the diagram given below that shows the steps involved in the
procedure of selecting transformed bacteria and answer the questions

that follow :
Gene for ampicilin
resistance Gene for tetracyline
resistance
Plasmid _
Plasmid i)
Recombinant DNA
(ii)
Plate N
Replica plating
Colonies derived from
single bacteria growing
on agar Agar with tetracycline
(111) and ampicillin (iV)

(a) Identify the colony that has got transformed. Justify your answer. é+é

(b) What are the sites in a plasmid called where ampicillin and
tetracycline resistance genes are inserted ? State their role in genetic

engineering. 2
(c) Name two enzymes playing an important role in genetic
engineering. 1
OR
(c) State the role of B-galactosidase in insertional inactivation. 1
57/1/2-11 17 VAWV P.T.O.
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30. fr=fafgd ufi=de = yem fi= few mu gt & s s | 4

w1 I8 AfevaEia (vedsHs) T8 7 6 wra &1 yiues fava & $a gfues

&1 hdd 2:4% & Seieh 3Heh! Afvdeh ST fafaerdr I9EwTe 9 & 8:1% 3 !
g TS (Sfai) o $6 Ao H WIhACE hl TE&AT 1 Scoi@ el i

TE 2 |

Shta-fasrit &9em & & fava & foafi= &= i Sdie fafogar 9 wefua siieet

1 TUE H H a9/ W@ § | R o I STORT-STerT &l H EAeTial
Taftr= ot 1 Sfeant b1 &efi fafagar & faw v st 1 9 fu €8 (an)

T G ST 7T 2

N

E
:

L~
(%) SRS H &F 1§ s fafagar (wgfy) waffas =i g 2 1
T
(%) SR H &F [ H S fafagar (Fgfg) ~maw =i g 2 1

(@) gl qen Sqell i fafagar fava & worawm T8 & o1 eme foa
sftraferd g 8 | S Hife fop 50 wehr At fafawar 1 @ wEd

g | 1
(M)  vE RN B T WihfEieg ® dei st wifvrn i i IRl SR st
fafaear & srgmfTa wen 78 gt 8 2 Tose Hif | 2
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30. Read the following passage and answer the questions that follow. 4
Isn’t it incredible that India’s land area is only 2-4 per cent of the world’s
total land area whereas its share of the global species diversity is an
impressive 8:1 per cent ! However, in these estimates of species,
prokaryotes do not figure anywhere.

Biologists are always keen on collecting data with respect to species
diversity observed in different regions of the world. The data collected
based on the survey conducted for species richness of groups of
mammals in three different regions of the world is shown in the bar

graph given below :
N

Taxonomic Richness

v

Region I
Region IT
Region III

(a) Why is the species richness maximum in Region III in the bar
graph ? 1
OR

(a) Why is the species richness minimum in Region I in the bar graph ? 1

(b) Plants and animals do not have uniform diversity in the world but
show rather uneven distribution. Mention what this kind of diversity
is referred to as. 1

(c) Why is it that prokaryotes do not have an estimated number of

their species diversity as seen in plants and animals ? Explain. 2
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Qs &

31. (&) () HIEHRN & 39 AT &1 9W fTew =wen e s
THHT IR § 1 A BIaT @ 90 haX hITrehrsti |
ed &S R Zé_

(i) #Hg S Gft JEEE HIRERRT § d 9 g9 g oS faftre
gifeafaa 0 SHateHl 8 Hohd 8 | 31 9 foiay qen gdqrse f

J ¥ I9Yh ®Y H FAER L 3 | 1
(iii) ShEX o AT qo1 g W FAfaRaa dedient 6l fHeh 1
3eci@ HINT
1) Shfaedien (Swiet) gor B ol (eheiersh) 1
(2) FEHE JAE AT (Ffesw e gafe) Zé
arera

(@) R @ g ¥ Yidled aTied 7 T §gd gef A1 H S Bl 8 ad
3 % UGN S T 381 ITER a1ied 7 IT=R EIEAT (STP)
fora ST 2 | anfed waT SURIR w9 o fafi= = o i feu o verE
3G g ST T 2 |

3 Y18 3T 1 EIIT R 4= feu e goqt & I & .
TIfes dfg:@Td &l 98 Iad dohi § ¥ THN Sl §

I3 ETd I AT - 7g e (dfom) doni § Har Siran g

@ Q) s SfgaE o 98 agdE SRl W IEm A g ? 0 1
2) Tfda ‘s’ 1 =1 hEd & 2 Uk HEW * Idd

I | 1
(3) UG Ffg:&ATE ohl YThldeh ST @idi H JaTed i § qd
fgres 3% 1 stfaw = Y e T | 1

Gi) ol Sta-srmat = feregl @ Sfat o 9™ faRae S 3m ait @
ITT A3kt o ®9 H foam ST 8 | foiRau for 398 4 v
e 93tk o ®Y T hd H T 3 | 2
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31. (a)
(b)

57/1/2-11

SECTION E
(i) Name and explain the property present in normal cells but is
lost in cancer cells. 1 1
(ii)) All normal human cells have genes that may become
cancerous under certain conditions. Name them and explain
how. 1
(iii) State the role of the following techniques in detection and
diagnosis of cancer :
(1) Biopsy and Histopathology 1
(2) Magnetic Resonance Imaging Ié
OR
Large quantities of sewage are generated every day in cities as well
as in towns and are treated in Sewage Treatment Plants (STPs) to
make them less polluting. Given below is the flow diagram of stages
of STP.
Study the flow diagram and answer the questions that follow :
Primary effluent passed into large aeration tanks
\ 4
Effluent passed into settling tanks to form ‘sediment’
i) (1) Why is primary effluent passed into large
aeration tanks ? 1
(2)  What is the ‘sediment’ formed, referred to as ?
Mention its significance. 1
(3)  Explain the final step in the settling tank before
the treated effluent is released into water bodies. 1
(ii) Name any two organisms commonly used as
biofertilisers, belonging to different kingdoms. Write
how each one acts as a biofertiliser. 2
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32. (%) JITId & b Jed Hed GRI SATEATRIA AN oh Yo & Fease foaaeH

o (a)

ST & | 9 TR o fohral =R SRMATRG A1 shi T SHIST a0 foheal o

61 ATEIT T & Ueh-Ush 32800 shl FEAT 9 <hifaU | 2+3
HAYAT
(@) () = fqu Tu HIfET TIH & TT Th G $hI3 SR TR
HIT 2
BRI
(i) RIS T HE FIE Lo & Il 8 ? 1
(iii) T fghect ST 1] Tohdl oo STREAT U H I erad ol
T 3 ? 2
33. (F) () TH AGasst (CNEARTH) § R FHBIGNIG h TohE shi =&
ity | 9l
(ii) T TAM-hITEhIT T FHBIGNG hl AHIhd (o SHTEY | 2%
HAYAT
(@) @ 9Fa ©f % TSR Hl W™ FHIE 1 g TId §C = R
faferfaa wrt =t amfera hifv 2
(1) %R Srfgehrd
(2) TR g
(3)  qd¥eh geh
4) 3
(i) AFE S & Sfiad He i RE sEEen § it gehi o1 HHi0
B 8 ? é
(iii) TSI | ITTAT A Tsh &I b hl QIHIT AT HTECHS
GRS hi ST HiT | 2=
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32. (a)
(b)
33. (a)
(b)
57/1/2-11

Many patterns of inheritance deviate considerably from the pattern
of inheritance as explained by Mendel. List any four such
inheritance patterns and explain any three with the help of an

example each. 2+3
OR
(1) Construct a transcription unit with a coding strand given
below with proper labelling : 2

AT G CT GATGTE CG A
N I I O A O

(i)  When does a coding strand become a template strand ? 1

(iii)) Why does a double-helix DNA molecule transcribe into a

single-stranded RNA molecule ? 2
(i) Explain the development of male gametophyte in an
angiosperm. 2;
(ii))  Draw a labelled diagram of a three-celled male gametophyte. 2%
OR
(1) Draw a diagrammatic sectional view of ovary of human
female and label the following : 2
(1)  Blood vessels
(2)  Primary follicle
(3)  Tertiary follicle
(4) Ovum
(ii)) At which stage of life are primary follicles formed in a
human female ? é
(iii) Explain the events (both hormonal and structural) that
occur at the time of ovulation till the onset of the next
menstrual cycle. 2 L
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